Series ;?:5;;:0(1 2 -Z 06, 010, 016 Air Cylinder

How to Order

Clean series Cushion ﬁ =
[10]  Relieftype | [ Nil__| Rubber bumper (Standard) | A
‘ 1 ‘Vacuum suction type‘ ‘ A ‘ Air cushion - /»’/

+ 06: Rubber bumper onl! P 2
P y - 5\%

C
-C

e Number of auto switches
Built-in magnet Head cover port location TR
Nil No pes.
" - : S 1pc.
With auto switch . Perpendicular
D Nil 3 N
(Built-in magnet) ' to axis b n n pes.

* For a cylinder with “D”, “-B”

is suffixed to the end of the Auto switch

R Axial § o m Without auto switch

part number.
: * For i auto switches, refer to
Copper, fluorine and Mounting * For double-side bossed, the the Applicable Auto Switch.
silicone-free + B Basic product is perpendicular to the # The minimum stroke for auto walch
. . E | Double-side b d i i mounting, operating range and auto
Low particle generation T Sien:::o;sse cylinder axis. switch mounting brackets/part no.
m . are the same as standard products.
L M Double foot Cylinder stroke (mm)
[ 22 [ Vacuum suction type ) .
F Rod flange Auto switch mounting type
G Head flange Bore size (mm) TNt | None |
* Foot/Flange brackets are | B | Band mounting |
shipped together with the Only for With h
product, but not assembled. * Only for ith auto switcl
(Built-in magnet).
# Auto switch mounting method
Model is band mounting only.
Model Bore size Port size |Lubrication| Action Standard stroke Auto switch Cushion :
(mm) (mm) mounting Rubber Air
§ 10-/21-CJ2006 6 15,30, 45, 60 —
3 | 10-/21-CJ20110 10 Double 15, 30, 45, 60, 75, 100, 125, 150 o
£ | 10-/21-CJ20016 16 M5 x 0.8 | Non-lube | actin 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 e)
e & 11-/22-CJ2016 6 X0 on-iuoe Singl 9. " 15, 30, 45, 60 Band mounting only | Standard —
2 5 | 11-/22-CJ20110 10 INgle rod ™45 30,45, 60,75, 100, 125, 150 o
~ 3| 11-/22-CJ20116 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
= Air cushion is not available for 21-/22-.
Specifications Suction Flow Rate of Vacuum
Bore size (mm) Troe Suction Type (Reference values)
ltem Size ‘ Suction flow rate L/min (ANR)
Proof pressure 1 MPa 6/110/16 ‘ 1
Maximum operating pressure 0.7 MPa
Minimum operating pressure 26: 0.14 MPa .
210, 16: 0.08 MPa (Air cushion 0.1 MPa) Mounting Bracket Part No.
Ambient and fluid t t Without auto switch: —10°C to 70°C - -
mbient and fluid temperature With auto switch: —10°C to 60°C (No freezing) '\g‘;;'c”&gg Bore size (mm)
i 6 10 16
Piston speed 50 to 400 mm/s
Stroke length tolerance 10 Foot | CJ-L010C | CJ-L016C |CJK-L016C
Mounting Basic/Double-side bossed/Single foot/Double foot/Rod flange/Head flange Flange | CJ-F010C| GJ-FO16C |CJK-FO16C
Grease 10-/11-: Fluorine grease, 21-/22-: Lithium soap based grease
Cleanliness class (ISO class) 10-/21-: Class 4, 11-/22-: Class 3

® 685



SaAJeA [04u0D
|euonoaing

siapuljhg iy

siojenjoy Atejoy

siadduy a1y

wawdinbg
uoneJsedaid iy

“H "4 Je|npopy

jawdinbg
|043u0Q aunssald

Buigny  sbuny

jawdinbg
|o1u0) Moj4

$I0SU3S aINSSAld
[SAYONMS 3Inssald

@®
®

686



Air Cylinder 2972-CJ2

Applicable Auto Switch (Refer to the WEB catalog for detailed specifications and auto switches not in the following table.)

Electrical |Indicator| Wiring Load voltage Auto switch model Lead wire length (m) .
Type entry light | (Qutput) DC AC | Bandmounting | 05 (Ni) [ 1(M)] 3() | 5(z) | PPicable load
Solid state ; 5V MoB ° ° [ ] O
N Grommet Yes | 2-wire | 24V —
auto switch 12V M9BW L L LJ o Relay, PLC
Reed auto switch Grommet Yes | 2-wire | 24V | 12V | 100V A93 [ ] — [ ] [ ]
Note 1) Lead wire length symbols: 0.5 m.........Nil  M9BW Note 2) Auto switches marked with “O” are produced upon receipt of order.
1m M M9BWM Note 3) PLC: Programmable Logic Controller
3m L M9BWL
5m......Z M9OBWZ
# Auto switch mounting type is band mounting only
Refer to page 889 for the applicable auto switch list.
Auto Switch Proper Mounting Position (Detection at Stroke End)
D-M9oOI
D-M9OIW D-ASD
Auto switch Auto switch
el Sy L s
== et
A,Me .LE ALl 2es .LB

A and B are the dimensions from the end of the head cover/
rod cover to the end of the auto switch.

Auto Switch Proper Mounting Position (mm)

Auto switch D-M9[]
model D-MOLIW DeASS
Bore size A B A B
6 (45)5.5 | (4.5)5.5 | (0.5)1.5 | (0.5) 1.5
10 (5) 6 (5)6 (12 (12
16 (55)6.5 | (55)6.5 | (1.5)25 | (1.5)2.5

A and B are the dimensions from the end of the head cover/
rod cover to the end of the auto switch.

# The values in () are measured from the end of the auto switch mounting bracket.

Note) The above-mentioned value is a guide for auto switch mounting positions for
stroke end detection. When actually mounting the auto switch, adjust the po-

sition after confirming the operating state of the auto switch.

Auto Switch Mounting Height (mm)

Auto switch D-M9oC]
model D-M9CIW
D-A9C]
Bore size Hs
6 15
10 17
16 20.5

| /\ Specific Product Precautions \

\ Mounting

/\ Caution

1. During installation, secure the rod cover and tighten by
applying an appropriate tightening torque to the retaining nut
or to the rod cover.

If the head cover is secured or the head cover is tightened,
the cover could rotate, leading to a deviation.

687

2. Tighten the retaining screws with an appropriate tightening
torque within the range given below.
©6:5.9t06.4 N-m
210: 10.8t0 11.8 N-m
©16:20.0 t0 21.0 N-m



Air Cylinder 39725:CJ2

Basic (B): 1%:CJ2B, 3:CJ2B

Rubber bumper
26 Mountingnut - GA GC  Piping port 3 x M5 x 0.8
Rodendnut NN\ & @
o MM z 5 -
g2
§ \ o NS & g3
o3 Q o o i : o3 28
my | LBA#{ & 5%
] BA A | [N NA los| 1202 ©
H 60 + Stroke
88 + Stroke 4
]
Head cover port location £
Axial (R) Mounting nut » GA GC  Piping port 3 x M5 x 0.8 &
Rodendnut NN\S =
MM °
2 H_ToT T3 o & <
o3 s
&, s
& 2
A EfL NA 2z e g
210, 616 H 57.5 + Stroke g
85.5 + Stroke 2
4
o
Q.
k=
Y 5]
Mounting nut\GA__ GC  Relief port M5 x 0.8 GB_ <
Section Y detail Rod end nut .
> od end nui Piping port 2 x M5 x 0.8 ° Piping port M5 x 0.8
$ g :
O
3 Y g8
| ‘ m g5
o I @ o<
0 0 E ucf
BA-o3 BB-03| Head cover port location |3
|Fl.NA INB| Axial (R)
H S + Stroke = The overall cylinder length
Z + Stroke does not change. [\
w
(mm) | 5
Boresizey A | BA | BB | CA | CB | D F [GAJGB][GC [ H [MM]| NA [ NB [NDws| NN| S T r4 E
6 15 | 15 | — | 17 | — 3 8 12 | — | 11 28 |M3x05] 24.5| — | 830 MBX10| — 3 — 2
10 15 15 12 17 14 4 8 5 5 1 28 |M4x0.7] 20.5 | 9.5 |[108022/MI0x10] 54 — 82
16 | 15 [18.3/18.3]| 20 | 20 5 8 5 5 11 28 [M5x0.8[20.5 | 9.5 [1230]Mi2x10] 55 | — | 83 3
€€
3¢
Air cushion type is not ge
available for 21-/22-CJ2. | | &
o
a
[ [ 8 [ I
rS—a— 1l IS A1 o
(NS ( e I="S4] £
[ & | [& "] S
WA |ws -
B4 &
Y 8
Mounting nut GA GC Relief port M5 x 0.8 $57B« E
Rod end nut NN Piping port 2 x M5 x 0.8 i
Piping port M5 x 0.8
MM
9 ™ Lt Wi T
e — B i
[ I [ og
HS
Head cover port location ot
A||Fl._NA NB Axial (R)
H S + Stroke = The overall cylinder length =
Z + Stroke does not change. 2 g
(mm) |53
Boresize] A B C D F GA | GB | GC H MM | NA | NB | NDns ‘ NN S WA | WB WW | Z g g
10 15 15 17 4 8 5 6.5 11 28 |M4x07/29.5| 20 10,8022‘M10X1.0 73.5[22.9|13.4| 45 [101.5 n&) §
16 | 15 [18.3 | 20 5 8 5 65 | 11 28 [M5x08]29.5 | 20 [128cM12x10[ 74.5]22.9 | 13.4| 45 [1025 |£&

)

688 ®



Air Cylinder 2972-CJ2

Double-side Bossed (E): {%-:CJ2E, 3:CJ2E

Rubber bumper

26 ®
Mounting nut S| GA GG Piping port 3x M5x 0.8
Rodend nut NN |®
mm o\ ~.GB NN
a
\ \ ey Hi
S ]
A NA INB|
Flls
H S + Stroke F
Z + Stroke
210,016
Section ¥ detail 'y Section YY detail
Mounting nut\GA,__ GC  Relief port M5 x 0.8 GB_ vy
Rodend nut NN Piping port 2 x M5 x 0.8 NN
MM
- & a /
o Q Ty rit
4 e
[~ } 2
B-0s
A | |F| NA INB|
H S + Stroke F
Z + Stroke
(mm)
Bore size| A B C D F |[GA|GB|GC| H MM NA NB NDns NN S Y4
6 15 15 17 3 8 |12 | 5 | 11 | 28 M3 x 0.5 245 | 9.5 88022 M8 x 1.0 60 96
10 15 15 17 4 8 5 5 11| 28 M4 x 0.7 20.5 | 9.5 103022 M10x1.0 | 54 90
16 15 18.3 20 5 8 5 5 | 11 28 M5 x 0.8 20.5 9.5 128027 M12 x 1.0 55 91

® 688-1



Double-side Bossed (E): 1%-:CJ2E, 3:CJ2E

Air Cylinder 39725:CJ2

With air cushion

Air cushion type is not
available for 21-/22-CJ2.

Directional
Control Valves

[ [ |
S=c—\ { I~ 4
S~ ( e =" g
S | & | £
WB 3
=
Relief port M5 x 0.8 ,GB_ vy Section YY detail 2
Piping port 2 x M5 x 0.8 NN 2
3
3
[ @11 >
| I~ s
| I E
NB o
S + Stroke g
Z + Stroke 5
=

(mm)

Boresizefe A| B | C | D | F |GA|GB|GC| H MM NA | NB | NDws NN WA (WB \WW| S 4
10 15|15 17 | 4 8 5 |65 11 | 28 | M4x0.7 |29.5| 20 | 10302 |[M10x1.0/22.9|13.4| 45 |73.5/109.5
16 15 [183] 20 | 5 8 5 |65] 11 | 28 | M5x0.8 129.5| 20 | 1280y |M12x1.0/22.9/13.4| 45 |74.5/110.5

Flow Control - . Pressure Control Air Preparation
Equipment Fittings & Tubing Equipment Modular F. R. Equipment

Pressure Switches/
Pressure Sensors

688-2 ®



Air Cylinder

10-/11-
21 -/22-CJ2

Single Foot (L): i%:CJ2L, 3:CJ2L

Rubber bumper View E
26 Mountingnut F |GA GC  Piping port 3 x M5 x 0.8
Rodendnut NN
Cover surface Mm a ;\;\:( S ®<\ m\v
[ N e H 021 % o%
{ 1 S N
a B {1rok Ay .
LA NA 9.5 15-03 12-03
‘ LX -IT -2 <2 |
Lz X| YT Drawi £ view E
2xoLC H 60 + Stroke rawing of view
m Mounting hole 88 + Stroke
Head cover port location
Axial (R)
Mountingnut F GA GC  Piping port 3x M5x 0.8
Rodendnut NN
MM T
)| P 9
* Lul‘ A‘j‘ @ 3,33
,_T A ] NA A pa—
x|l
H 57.5 + Stroke
85.5 + Stroke
210, 016 View E
Mountingnut GA_ | GC Relief port M5 x 0.8 -
Cover surface Rodendnut NN\ F| Piping port 2 x M5 x 0.8 Piping port M5 x 0.8
AN GB,_ &
a h ¢
= T T o
E m| > o : @ =
e H @ &
: f :
LL.‘ Bl AL NB| BB-03 Head cover
Lz X Y| NA =~ port location
2xolC H S + Stroke Axial (R)
Mounting hole Z + Stroke # The overall cylinder length
C$ does not change.
rrrrrrrrrrrrrrrrrrrrrr st /A
a 7
&v BA-0s
Drawing of view E (mm)
Boresize]l A | BA |BB [CAICB|D | F |GA|GB/GC| H | LB [LCILH|LT|LX|LY [LZ] MM |NA |INB| NN S| T/ X|Y| Z
6 |15/ 15| — |17|—|3 |8 [12|—|11|28(16.5|4.5] 9 |1.6/24 |16.5/32 |M3x0.5(24.5| — |M8x10| — |3 |5 |7 | —
10 |15] 15|12 |17(14|4 |8 | 5| 5 |11]|28|21.5|5.5/14|2.3|33| 25 |42 M4 x0.7|20.5{9.5M10x1.0, 54 |—| 6 | 9 | 82
16 115]18.3|18.3|/20/20|5 |8 | 5|5 |11]28| 23 |5.5/14]2.3/33| 25 |42 M5x0.8/20.5{9.5M12x1.0 55 |— |6 | 9 | 83

® 688-3



Air Cylinder 39725:CJ2

Single Foot (L): i%:CJ2L, 3:CJ2L

With air cushion
Air cushion type is not I T I T w
available for 21-/22-CJ2. f=s—— 8 <7< 2
NSET I ( e =S8 =]
[ I [ I s>
88
WA wB 85
- o
View E

Mounting nut GA_ | GC Relief port M5 x 0.8 »

Cover surface Rodendnut NN\ F Piping port 2 x M5 x 0.8 N - @

<™ GB Piping port M5 x 0.8 b

MM \ e £

—F — a >

S, IR K )—N@ ©

é m| > Hht } =S< > £

o
51 & H — Nl
: ; :

LLJ Bl AL NB Head cover 2
Lz X Y NA port location E
2x0lLC H S + Stroke Axial (R) g

Mounting hole Z + Stroke * The overall cylinder length >

égi, does not change. 2
,,,,,,,,,,,,,,,,,,,,,, wy, «

%0 ?

[

-3 (e 2

o N\ g

(5]

B-Ss é

Drawing of view E
mm)

Boresize)! A|B [C |D | F |GA|IGB|GC| H |LB|LC|LH|LT|LX|LY|LZ| MM [NAINB| NN | S WAWBWW X |Y  Z
10 |[15(15 (17| 4 | 8 6.5| 1128 |21.5/5.5/14 |2.3|33 | 25 | 42 |M4x0.7|29.5| 20 |M10x1.0[73.5[22.9{13.4/45 | 6 | 9 [101.5
16 |151183/20 | 5 | 8 | 5 16.5/11 |28 |23|5.5/14 12.3/33 | 25 | 42 [M5x0.8/29.5| 20 |Mi2x10/74.5[22.9/113.4/ 45 | 6 | 9 [102.5

o
o

Flow Control - . Pressure Control Air Preparation
Equipment Fittings & Tubing Equipment Modular F. R. Equipment

Pressure Sensors

Pressure Switches/

688-4 ®



Air Cylinder 2972-CJ2

Double Foot (M): {$CJ2M, 3:CJ2M

Rubber bumper

26
View E
H Mounting nut Piping port 3 x M5 x 0.8
Rod end nut NN Flea ac GB E Mounting nut
Cover surface MM a ‘ NN
- Q Hoo Ty i
= ; -
o » R -
] 5 *
Lz A NA NB|Y| | X
4x0LC X|lY[[3
Mounting hole S + Stroke
LS + Stroke
Z + Stroke
Drawing of view E
210,216
View E
Mountingnut GA | GC Relief port M5 x 0.8 GB_F  Mounting nut
Cover surface Rodendnut NN\ F| Piping port 2 x M5 x 0.8 NN
MM \
Q ;g - %
9, o ﬂ‘ !
S - Q > = 'Lﬂ :
|
+ I + ]
] Al :
Lz A
:AXBI:-ch| X | |YI| NA NB|Y |X
ounting ho'e H S + Stroke
$ LS + Stroke
Z + Stroke
&
-3 {7
o KF
B-%s
Drawing of view E
(mm)
Boresizefl A| B |C |D|F |GAGB/GC|H |LB|LC|LH|LS LT |LX|LY |LZ| MM NA |[NB NN S [ X|Y|Z
6 15115173 |8 |12| 5 |11|28|21.5/45| 9 |74 |1.6|24|16.5/ 32 M3x0.5/24.5/9.5/M8x1.0|60 | 5| 7 |100
10 15/15 174 |8 |5 |5 |11|28|21.5/55|14|72|2.3|33| 25 | 42 |M4x0.7/20.5/9.5|M10x1.0{54 | 6 | 9 | 97
16 15/18.3/20 | 5/8 |5 | 5 |11]|28| 23 |55]/14|73|2.3|33| 25 | 42 |M5x0.8/20.5|9.5|M12x1.0{55| 6 | 9 | 98

® 688-5



Double Foot (M): 1$CJ2M, 3:CJ2M

Air Cylinder

10-/11-
21-/22-

CcJ2

With air cushion

Air cushion type is not w
available for 21-/22-CJ2. 3
Qﬁ c5
o>
] [ 2 8 [ I {F %5
(ES—a—1\ I~y 25
NS e e =" a5
\ \ &1 {£ S
WA WB
[
o
View E 2
Mounting nut GA_| GC Relief port M5 x 0.8 GB F Mounting nut 3‘
Cover surface Rodendnut NN\ F| Piping port 2 x M5 x 0.8 NN 3
MM /
%Wm e ‘@M\W v
ol > HH i =< 2
== Y —Y 5
3 f : e <
LX r 5 g
Lz A é
X Y NA NB | Y |X
4x0LC H S + Stroke
Mounting hole LS + Stroke g
Z + Stroke ,&
S
Wy, &
NS >
3l () 5
= NS §5
: H
B-o03 o5
g
Drawing of view E P
(mm)
Boresizefl A| B |[C|D|F|GAGB/GC/H| LB |[LC|LH|LS |LT|LX|LY|LZ] MM |[NANB| NN |WAWBWW| S |[X|Y| Z .
10 |15/ 15 17|48 | 5 |6.5/11/28|21.5|5.5|14|91.52.3|33 | 25|42 M4 x 0.7[29.5/ 20 [M10 x 1.0[22.9|13.4| 45 [73.5| 6 |9 [116.5 | =
16 |15/18.3(20/ 58| 5 |6.5/11]28| 23 |5.5/14(92.5/2.3|33 |25 |42 M5 0.8/29.5/20 M12x1.0]22.9/13.4] 45 [74.5/6 | 9 [117.5 E
3
<}
=
s
€E
S¢g
e
33
a8
o
a
o
£
Qo
35
e
5
)
£
E
g
g8
oo
iz
E w
33
o2
Za
23
o 2
& o

688-6 ®



Air Cylinder 2972-CJ2
Rod Flange (F): 1%CJ2F, 3:CJ2F
Rubber bumper
o6 View E
Mountingnut F|GA GC  Piping port 3 x M5 x 0.8
Rodendnut NN
5
C f MM N\ - A
over surface \ a ‘Jv; & q,"b(
= H H| ol ]
€ ez i ! S 4 4
FX FT |||
Fz 2xoFC A T[] NA 95| 15-5 1200
Mounting hole H 60 + Stroke . .
86 + Stroke Drawing of view E
Head cover port location
Axial (R) Mountingnut F GA GC  Piping port 3 x M5 x 0.8
Rodendnut NN
MM
RN e %
£ H ! .
FT °3
LiLRISR ) o
A T NA 7] N 8-03
H 57.5 + Stroke
85.5 + Stroke
210,016 View E
Mountingnut GA | GC  Relief port M5 x 0.8 _GB_
Cover surface Rod end nut NN Piping port 2 x M5 x 0.8 Piping port M5 x 0.8
MM o7
, o\ [
&y = ; ‘ &
FX FT INB} BB Head cover
FZ 2xoFC A F| NA port location
Mounting hole H S + Stroke Axial (R)
Z + Stroke # The overall cylinder length
does not change.
st /A
RN
00‘? BASs
Drawing of view E (mm)
Boresizefl A |BA |BB |[CA|CB| D | F |FB |FC|FT |FX|FY | FZ | GA|GB/GC| H MM | NA [NB| NN S | T| Z
6 156|156 | — |17 | — | 3 | 8 |145/45|16|24 |14 |32 |12 | —| 11|28 IM3x0.5[245| — |[M8x10| — | 3 | —
10 |15] 15| 12 |17 |14 | 4 | 8 [17.5|/55|2.3|33 |20 (42| 5 | 5 | 11|28 |[M4x0.7/20.5/9.5 |M10x1.0| 54 | —| 82
16 [ 15[18.3|18.3/20 20| 5 | 8 | 19 |55]2.3[33[20 42| 5 | 5 | 11|28 |[M5x0.8/20.5/9.5 M12x1.0 55 | — | 83

® 688-7



Air Cylinder 39725:CJ2

Rod Flange (F): 1%:CJ2F, 3::CJ2F

With air cushion
Air cushion type is not
available for 21-/22-CJ2. (Z—A—\l 8

13
IS A1 w g
S ( e = €®
I & | [& 1 2>
88
WA wB 835
BLLY 3
View E
Mountingnut GA_| GC Relief port M5 x 0.8 _GB_ ]
Cover surface Rodendnut NN Piping port 2 x M5 x 0.8 3
Piping port M5 x 0.8 £
MM =
\ a\ A o
g S [STT] 3 =
m| > | I~ IS <
{\ | I =] [
N2 f — e
o
FX FT NB Head cover port location S
FZ 2xoFC A F NA Axial (R) S
Mounting hole S
< H S + Stroke # The overall cylinder length <
Z + Stroke does not change. =
Wy, 2
%o ?
2 4
-2 (&R g
o \S§ g
o
BSs =
<

Drawing of view E (mm)

FB |FC |FT |FX |FY |FZ|GA|GB |GC| H| MM |[NA|NB| NN | S |\WA|WB WW| Z
17.5/55]2.3|33 |20 |42 | 5 |6.5| 11 | 28 M4x0.7]29.5| 20 |M10x10|73.5/22.9/13.4| 45 |101.5
19 1551233320 |42 | 5 |65 ] 11 | 28 [M5x0.8/29.5| 20 |M12x1.0/74.5[22.9|113.4| 45 [102.5

Boresizy! A| B |C | D
10 | 15|15 |17 | 4
16 1151183120 | 5

o |0 (M

Flow Control - . Pressure Control Air Preparation
Equipment Fittings & Tubing Equipment Modular F. R. Equipment

Pressure Sensors

Pressure Switches/

688-8 ®



Air Cylinder 2972-CJ2

Head Flange (G): 1%:CJ2G, 2}:CJ2G
Rubber bumper

o6 Piping port 3 x M5 x 0.8
Rod end nut NN GA GC GB Mounting nut
) Cover surface
b N\ o\ | L} AL g NN /
o3 u eSS
® : 4 O EE
B FT FX
-0.3
LA | NA INB| FZ 2xeFC
F||3 Mounting hole
H S + Stroke F
Z + Stroke
210,216
GA_ _GC  Relief port M5 x 0.8 _GB_  Mounting nut
Rodendnut NN Piping port 2 x M5 x 0.8 NN Cover surface
N oo sutce
o ¥ 2 HITL i 1 i
) EE] 1 e
B-0s FX
A F | NA NB FT FZ 2xeoFC
H S + Stroke F ‘ Mounting hole
Z + Stroke

(mm)
FB | FC | FT | FX | FY | FZ |GA|GB|GC| H MM NA | NB NN S | Z
145[45(16(24 |14 |32 |12 11128 | M3x0.5]245)|9.5|M8x1.0| 60 | 96
175]155[23|33|20|42 |5 28 |[M4x0.7[20.5| 9.5 |[M10x1.0| 54 | 90
19 |55/123[33]/20 |42 |5 1128 | M5x0.8]20.5)| 9.5 M12x1.0] 55 | 91

Bore size| A B C
6 15| 15 17
10 15| 15 17
16 15 118.3| 20

o bd|w|O
0 |00 |00 |
(SRS R16)]
-
=

® 688-9



Air Cylinder 39725:CJ2

Head Flange (G): 1%:CJ2G, 2:CJ2G

With air cushion

Air cushion type is not »
available for 21-/22-CJ2. = o
c5
S >
=
S —as—1 8 I NH og
[N — e e | a5
[ S | [& 1 S
WA WwB
4
[}
o
£
Rodendnut NN GA_ GC Relief port M5 x 0.8 _GB_  Mounting nut 3
”’Wo MM Piping port 2 x M5 x 0.8 NN Cover surface -g
©
o o // ‘
o % o) AT T 17
3 (&) =] | <8l
= \§ H E
v Q
B-bs FT FX i
A NA NB |F FZ 2xeoFC s
H S + Stroke ‘ Mounting hole | 2
Z + Stroke
4
@
o
=3
(mm) | &
Boresizef A| B |C|D|F |FB |FC|FT FX|FY|FZ|GA|/GB|GC| H MM NA |[NB NN WA |WB |WW| S z §

10 |15]15 17| 4 | 8 |17.5|5.5|2.3|33|20|42| 5 |6.5/ 11|28 |M4 x0.7|29.5| 20 |[M10 x 1.0|22.9/13.4| 45 |73.5{109.5
16 115]18.3/20| 5 | 8 | 19 15.5/2.3/33/20/42| 5 16.5/11 |28 |M5x0.8/29.5 20 M12 x 1.0/22.9/13.4| 45 |74.5[110.5

Flow Control - . Pressure Control Air Preparation
Equipment Fittings & Tubing Equipment Modular F. R. Equipment

Pressure Sensors

Pressure Switches/

688-10 ®



Air Cylinder 2972-CJ2

Mounting Nut Rod End Nut
d
d
™ L N J B
)/ Y
—4
—
B Hz
B1 Hi
Material: Carbon steel (mm) Material: Carbon steel (mm)
Part no. Applic;ble B+ Ci d H1 Part no. Applicqble B: C: d H2
bore size bore size
SNJ-010C 6 11 12.7 M8 x1.0 4 NTJ-006B 6 5.5 6.4 M3x05 | 24
SNJ-016C 10 14 16.2 | M10x1.0 4 NTJ-010C 10 7 8.1 M4 x0.7 | 3.2
SNKJ-016C 16 17 19.6 [ M12x1.0 4 NTJ-015C 16 8 9.2 M5 x 0.8 4

* The applicable mounting nuts are different from those for standard cylinders.

® 688-11



\)



Air Cylinder 1973

Single Foot (L): i%:CJ2L, 3:CJ2L

Rubber bumper
06

Cover surface

210,016

Cover surface

MM NN F GA GC

Piping port 3 x M5 x 0.8

=Y

LT

&

| U8-65

Head cover side

Piping port M5 x 0.8

XY

H
Z + Stroke
View E
Mountingnut GA_ | GC

NN\ F|
a
S,
1
1

0
BB-03

\§

LT

>
:|:IE -
3
- T -
LX
LZ
2xoLC

X Y| . NA

BB-0s Head cover

«
°g

port location
Axial (R)
* The overall cylinder length
does not change.

a 7

q,f-'v BA-Ss
Drawing of view E (mm)
Boresizel A | BA | BB |CA D|F GB|/GC/ H | LB S|T|X|Y|Z
6 [15] 15 | — 3.8 —[11|28(16.5 M8x1.0|57.5| 3 | 56| 7 |85.5
10 |15] 15 | 12 418 5 |11]28(21.5 2 M10x1.0{ 54 |—| 6|9 | 82
16 115]18.3{18.3/20 58 11128 23 M12x1.0/ 55 |—| 6] 9 | 83

With air cushion

Air cushion type is not
available for 21-/22-CJ2.

==

&
iCa

1. WA

View E

Mounting nut GA_| GC

=

1]

Cover surface Rodendnut NN\ F | Piping port 2 x M5 x 0.8
MM
a ;ﬁ s
Q, ik
- @ > ! LH i }
]
: ¥ :
LX ‘ H AL
Lz X Y
2xoLC H S + Stroke
/" Mounting hole Z + Stroke
N4

B-bs
3

0
B-o3

==

Drawing of view E

Piping port M5 x 0.8

[ &
\‘/

Head cover
port location
Axial (R)

# The overall cylinder length
does not change.

mm)

Boresizel A |B | C | D GC| H [LB|LC|LH WAWBWW| X | Y| Z
10 [15]15 |17 | 4 28 [21.5/5.5| 14 0 22.9(13.4/45| 6 | 9 1015
16 | 15]183/20 | 5 2823|5514 22.9(13.4/45| 6 | 9 1025

689



Air Cylinder 39723:CJ2

Double Foot (M): 1$CJ2M, 3:CJ2M
Rubber bumper

View E = 3
Mountingnut GA_| GC  Relief port M5 x 0.8 GB_ F  Mounting nut 5 E
Cover surface Rodendnut NN\ F| Piping port 2 x M5 x 0.8 NN § °
MM \ / S .g
2 W T T o
219% H ﬂ i
o] "
+ i + | o
LX 5 5 g
Lz A 3
ixolC__ x] |Y| NA NB| Y |X E
ounting hole H S + Stroke
] LS + Stroke "
Z + Stroke 2
s
2
5
§ H
< (A g
? )/ s
B-5s o
Q
Drawing of view E &
(mm) | &
Boresizefl A| B | C |D|F|GA|GB|GC|H [LB|LC|LH|LS|LT|LX|LY |LZ| MM |NA |NB| NN S |X|Y|Z 5
10 |15] 15|17 |4 |8 |5 |5 |11]|28(21.5/5,5|14|72|2.3|33| 25 | 42|M4x0.7/20.5/9.5|M10x1.0/54 | 6 |9 |97
16 |15]18.3/20| 5|8 |5 |5 ]11]28| 23 |55|14|73]2.3[33| 25 |42 |M5x0.8/20.5/9.5|M12x1.0{55|6 |9 |98
c
O
With air cushion 55
)
Air cushion type is not [
it
<
] I 8 [ I
S — Il IS A L
NS~ e ( =8 .
[ & | [& 1 4} «
'S
WA wB 2
o
o
View E =
Mountingnut GA_| GC Relief port M5 x 0.8 GB, F_ Mounting nut —
Cover surface Rodendnut NN\ F| Piping port 2 x M5 x 0.8 NN g .
MM 55
a SE
]
/33 ke | — g
: } 2 = | Q.
x| b 5 2
Lz A _g
XY NA NB | Y X ;
4x0LC H S + Stroke @
Mounting hole LS + Stroke g
@7' Z + Stroke i
T
£5
S E
o oo
os =3
o ch =
B-0s
F4
Drawing of view E 52
(om) | 2 5
Boresizel A| B |[C|D|F|GAGB|GC/H| LB |[LC|LH| LS |[LT|LX|LY/LZ] MM |[NA/NB] NN WAWBWW S X|Y| Z o8
10 |15/ 15 (17|48 | 5 |6.5/11|28|21.5/5.5/14(91.5|2.3|33 |25 |42 M4 x0.7|29.5/20 [M10x 1.0]22.9/13.4| 45 [73.5/ 6 | 9 [116.5 ﬁﬁ
16 |15[18.3]20[ 5| 8| 5 |6.5]11]28] 23 |5.51492.5[2.3|33| 25|42 |M5 x 0.8/29.5/20 [M12x 1.0[22.9[13.4] 45 [74.5]6 |9 [117.5 |£ =

690



Air Cylinder 2972-CJ2
Rod Flange (F): 1%:CJ2F, 3::CJ2F
Rubber bumper
26 Cover surface MM NN GA GC  Pipingport3x5x0.8 S
o $ o
— Q
Elt = I |
' 2xoFC FT}.T NB
FX Mounting hole A LE NA | OBA-0s | 8-05
Fz H S + Stroke Rod cover side Head cover side
Z + Stroke
210,216 View E
Mounting nut GA_| GC  Relief port M5 x 0.8 GB_
Cover surface Rod end nut NN Piping port 2 x M5 x 0.8 Piping port M5 x 0.8
MM &
, AR b
V/%% m| > o ! | v 3
R EE | B
FX FT INB| BB.Ss Head cover
FZ 2xoFC A F|. NA port location
Mounting hole H S + Stroke Axial (R)
Z + Stroke # The overall cylinder length
does not change.
RN
00‘” BA-s
Drawing of view E (mm)
Boresizefl A |[BA |BB |[CA/CB| D | F |FB |FC|FT FX|FY|FZ|GA|GB|GC| H MM | NA |[NB| NN S | T|Z
6 15|16 | — |17 | — | 3 | 8 |145/45|1.6|24 |14 32|12 | —| 11|28 IM3x0.5/24.5| 7 |M8x1.0|57.5| 3 |85.5
10 |[15| 15|12 |17 |14 | 4 | 8 [17.5/55|2.3(33 |20 42| 5 | 5 | 11|28 |M4x0.7/20.5/9.5 M10x1.0 54 | — | 82
16 | 15]18.3|18.3]/20 |20 | 5 | 8 | 19 |55/2.3(33 20|42 | 5 | 5 | 11|28 [M5x0.8/20.5/9.5 M12x1.0] 55 | — | 83
With air cushion
Air cushion type is not I T I T
available for 21-/22-CJ2. Za—Aa—\ 8 e
S S— ( ( =
[ & | [& "]
WA WB
View E
Mounting nut GA_ | GC Relief port M5 x 0.8 _GB_
Cover surface Rod end nut NN Piping port 2 x M5 x 0.8
Piping port M5 x 0.8
MM
\ a\
T I1® il
©) < ek ; | B2 =2
2R ¥ — 2
FX FT NB Head cover port location
Fz 2xoFC A | |Fl_ NA Axial (R)
Mounting hole H S + Stroke # The overall cylinder length
Z + Stroke does not change.
Wy,
e ?
3 (kR
] \\
B3
Drawing of view E (mm)
Boresizel A| B |C | D | F |FB|FC |FT [FX|FY |FZ|GA|GB|GC| H| MM |[NA/NB| NN | S |WA|WBWW, Z
10 | 15|15 |17 | 4 | 8 |17.5(55(2.3[33 |20 |42 | 5 |65 | 11 | 28 [M4x0.7]29.5| 20 |[M10x1.0/73.5[22.9|13.4| 45 [101.5
16 115]18.3/20 | 5 | 8 |19 |55(2.3[33 120 |42 | 5 |6.5] 11 | 28 [M5x0.8/29.5| 20 |M12x1.0/74.5|22.9|113.4| 45 [102.5

691



Air Cylinder 39725:CJ2

Head Flange (G): 1%:CJ2G, 2:CJ2G
Rubber bumper

("]
GA_ GC Relief port M5 x 0.8 GB_  Mounting nut § %
Rodendnut NN Piping port 2 x M5 x 0.8 NN Cover surface 2>
) MM £2
" ¢ 2 T i 5 5
3 e O e

B-o0s3 FX §

A F [ NA NB FT FZ 2xeoFC £

H S + Stroke F ‘ Mounting hole 6*

Z + Stroke =

®

S

(mm) | &

Bore size] A B C |[D|/F|FB |FC|FT |FX|FY | FZ |GA|GB|GC| H MM NA | NB NN S | Z g
10 15| 15 17 |4 |8 [175|55(23 (33|20 |42 |5 |5 11|28 | M4x0.7|20.5|9.5 M10x1.0] 54 | 90 e
s

16 15183 20 | 58] 19 |[55]283|33|20 |42 |5 |5 11|28 | M5x0.8|20.5|9.5 M12x1.0] 55 | 91 é
[

g

a

With air cushion 5
E

Air cushion type is not
available for 21-/22-CJ2.

D |

&

WA WB

Air Preparation
Equipment

Rodendnut NN GA_GC Relief port M5 x 0.8 o
We MM Piping port 2 x M5 x 0.8 Cover surface E
s
Na) ? ‘\ a . 3
HE I =
i {8 e O e -
o
B FX 2.
A NA FZ 2xoFC S8
H S + Stroke ‘ Mounting hole | g g_
Z + Stroke 23
gu
a
(mm)
Boresizef A| B |C|D|F |FB |FC|FT FX|FY|FZ|GA|GB|GC| H MM | NA |NB NN WA |WB |WW| S Y4

10 |15/ 15|17 4 | 8 |17.5|/55|2.3|/33/20|42| 5 |6.5/11|28|M4x0.7(29.5| 20 |M10 x 1.0/22.9|13.4| 45 |73.5(109.5
16 [15]18.3/20| 5 | 8 | 19 |15.5/2.3|33|20|42| 5 |6.5/ 11|28 |[M5x0.8/29.5| 20 [M12 x 1.0|22.9/13.4)| 45 |74.5[110.5

Flow Control - .
Equipment Fittings & Tubing

Pressure Sensors

Pressure Switches/

692



Air Cylinder

10-/11-
21-/22-

cJ2

Double-side Bossed (E): {%-:CJ2E, 3:CJ2E

Rubber bumper

Section ¥ detail 'y Section YY detail
Mounting nut\GA,__ GC  Relief port M5 x 0.8 GB_ vy
Rodend nut NN Piping port 2 x M5 x 0.8 NN
MM
o A /o
o Q Ty rit
4 =
o
/
B-03
A_| |F|. NA INB|
H S + Stroke F
Z + Stroke
(mm)
Bore size| A B Cc D| F |GA|GB|GC| H MM NA NB NDns NN S z
10 15 15 17 4 8 | 5|5 |11] 28 M4 x 0.7 205 | 95 108020 M10x1.0 | 54 | 90
16 15 | 183 20 5 8 | 5|5 |11 28 M5 x 0.8 205 | 95 128027 M12x1.0 | 55 | 91
With air cushion
Air cushion type is not
available for 21-/22-CJ2.
I 8 [ I
oS r—l I~y 1l
S — ] ( e =l
& | [& "1
WB
GB YY Section YY detail

Relief port M5 x 0.8
Piping port 2 x M5 x 0.8

'

[ @17
: =2
NB
S + Stroke
Z + Stroke
(mm)
Boresizef A| B | C | D | F |GA|GB|GC| H MM NA | NB | NDws NN WA |WB |WW| S z

10 15|15 |17 | 4 8 5 65| 11 [ 28 | M4x0.7 [29.5| 20 | 10802 |M10x1.0/22.9{13.4| 45 |73.5/109.5
16 15 [183[ 20 | 5 8 5 165 11 |28 | M5x0.8 |29.5] 20 | 1280y |M12x1.0/22.9|13.4] 45 |74.5/110.5

693



Air Cylinder 39725:CJ2

Mounting Nut Rod End Nut
d
13
55
d sS
8
— 52
A\ e\ l=l 3
K J © 2
—4
p—

4

B2 Hz o

T

£

B: Hy 3

5

Material: Carbon steel (mm) Material: Carbon steel (mm) o

" - 2

Part no. Applicable | g, Ci d Hi Part no. Applicable | g, C: d H S
bore size bore size g

SNJ-010B 6 11 12.7 | M8x1.0 4 NTJ-006A 6 5.5 6.4 M3x05 | 24 ;
SNJ-016C 10 14 16.2 | M10x1.0 4 NTJ-010C 10 7 8.1 M4 x0.7 | 32 £
SNKJ-016C 16 17 19.6 | M12x1.0 4 NTJ-015C 16 8 9.2 M5 x 0.8 4 =

* The applicable mounting nuts are different from those for standard cylinders.

=3

S

<

Flow Control - . Pressure Control Air Preparation
Equipment Fittings & Tubing Equipment Modular F. R. Equipment

Pressure Sensors

Pressure Switches/

694



. 1
Series

How to Order

21-/22-

0-/11-

CJ2W-Z

210,016
Double Rod Cylinder

Clean series

m Relief type
m Vacuum suction type

Built-in magnet

Nil No
D With auto switch
(Built-in magnet)

+ For a cylinder with “D”, “-B”

Copper, fluorine and

is suffixed to the end of the

Number of auto switches
Nil 2 pcs.
S 1pc.
n n pcs.

m Without auto switch

= For applicable auto switches,
refer to the Applicable Auto
Switch.

silicone-free + part number. * The minimum stroke for auto
. " . switch mounting, operating
Low particle generation Mounting range and auto switch mounting ~ Auto switch mounting type
m B Basic brackets/part no. are the same m
(22 [Vasium sucton ] - e sancars ot
F Flange 0y|inder stroke (mm) = Only for With auto switch
+ Foot/Flange brackets (Built-in magnet).
are shipped together R = Auto switch mounting method
with the product, but Bore size (mm) is band mounting only.
Model not assembled.
Model Bore size | 5 oo |Lubrication| Action Standard stroke Auto switch Cushion i
(mm) (mm) mounting Rubber Air
§ 10-/21-CJ2w0O10 10 15, 30, 45, 60, 75, 100, 125, 150
3 [10421-cJ2wDiie| 16 Double 45 30,45, 60,75, 10, 125, 150, 175, 200 o
P M5 x 0.8 | Non-lube | acting, Band ) | dardl
g £[11-/22-CJ2WI10[ 10 Double rod| 16,3045, 60, 75,100, 125, 150 and mounting only | Standar
= ‘g 11-/22-CJ2W0O16 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
Specifications Suction Flow Rate of Vacuum
Bore size (mm) Suction Type (Reference values)
Item 10/16
Size \ Suction flow rate L/min (ANR)
Proof pressure 1 MPa 10/16 1
Maximum operating pressure 0.7 MPa
i operating pressure 0.1 MPa

Ambient and fluid temperature

Without auto switch: —=10°C to 70°C

Mounting Bracket Part No.

With auto switch: —10°C to 60°C (No freezing) Mounting Bore size (mm)
Piston speed 50 to 400 mm/s bracket 10 16
Stroke length tolerance 30 Foot CJ-L016C | CJK-LO16C
Mounting Basic/Foot/Flange Flange | CJ-FO16C |CJK-FO16C
Grease 10-/11-: Fluorine grease, 21-/22-: Lithium soap based grease

Cleanliness class (ISO class)

10-/21-: Class 4

11-/22-: Class 3

Auto Switch

Auto switch specifications a

nd the proper mounting

positions for stroke end detection are the same as those

for double acting, single rod

type.

‘ Refer to page 889 for the applicable auto switch list. ‘

695



Basic (B): i:CJ2WB, 3:CJ2WB

Air Cylinder

wareJ2w-2

Section Y detail Y
Mounti GA__GC ; GC GA YY
ounting nut\ ¥R, A% Relief port 2 x M5 x 0.8 LS. Section YY detail
Rodendnut NN Piping port 2 x M5 x 0.8 NN
o Mm MM
& a a
o D, TN T 7 S
4 Jaisidi=a — i
m i %
B-os A | |FILNA NA |F A
H S + Stroke H + Stroke
Z + 2 x Stroke
(mm)
Boresize] A B [+ D F GA GC H MM NA NDns NN S z
10 15 15 17 4 8 5 11 28 |M4x0.7| 205 | 10802 M10Xx1.0 65 121
16 15 18.3 20 5 8 5 11 28 |[M5x0.8 20.5 | 12807 M12x1.0] 66 122
Foot (L): 1%CJ2WL, 3:CJ2WL
View E
Mounting nut GA| GC Relief port 2 x M5 x 0.8 GC GA
Cover surface Rodendnut NN \"¢ Piping port 2 x M5 x 0.8 F NN
MM L 1 / MM
o H T T 7 2
m|> iSal } } |
a
z]- Y
: ! :
LX A ]
Lz Lo XY Y| X
Axal! A NA NA A
Mounting hole ~
H S + Stroke H + Stroke
7 @ Z + 2 x Stroke
2%
=l (@
o 7
B3
Drawing of view E
(mm)
Boresize| A B|C|D F |[GA|GC| H [ LB [LC|LH |LT |[LX|LY |LZ MM |  NA| NN | S [ XY r4
10 |15 |16 |17 | 4 8 5 | 11|28 |215|55| 14 |1 23|33 | 25 | 42 M4x0.7] 20.5 |M10x10/ 65 | 6 | 9 | 121
16 | 15 |18.3/ 20 | 5 8 5 | 11 | 28 | 23 | 55| 14 | 2.3 |33 | 25 | 42 [M5x08/ 20.5 |M2x10/ 66 | 6 | 9 | 122

696

- . Pressure Control Air Preparation . . Directional
Fittings & Tubing Modular F. R. Air Grippers Rotary Actuators Control Valves

Flow Control

Pressure Switches/

)
b
o

-]

£
>

(8]

=
<

Equipment Equipment

Equipment

Pressure Sensors



Air Cylinder 1735CJ2W-Z

Flange (F): :CJ2WF, 3.CJ2WF

View E
2
Mounting nut GA_ GC Relief port 2 x M5 x 0.8 GC |GA %
Cover surface Rodend nut NN Piping port 2 x M5 x 0.8 ¢ NN
MM \ MM
L =)\ [=]
@) AN °
{\ E E i LL& | | H
X [LFT
FZ 2xoFC | LA | |[F| NA NA _|F A
Mounting hole H S + Stroke H + Stroke
Z + 2 x Stroke
§
[ v
B-0s

Drawing of view E
(mm)
Boresize] A B C D F |FB | FC | FT |FX |FY |FZ |GA|GC| H | MM | NA | NDns | NN S 4
10 15 | 15 |17 | 4 8 |175/55 23 (33 |20 |42 | 5 | 11 | 28 [M4x07| 20.5 [103022(Mi0x10] 65 | 121
16 15 [183] 20 | 5 8 19 [ 5523133 20| 42| 5 | 11 | 28 [M5x08] 20.5 [12800r|Mi2x1.0[ 66 | 122

| /\ Specific Product Precautions \

\ Mounting

/\ Caution

1. During installation, secure the rod cover on the mounting side 2. Tighten the retaining screws with an appropriate tightening

and tighten by applying an appropriate tightening torque to torque within the range given below.
the retaining nut or to the rod cover on the mounting side. 210: 10.8 to 11.8 N-m
If the rod cover on the opposite side is secured or the rod 216:20.0t0 21.0 N-m

cover on the opposite side is tightened, the cover could
rotate, leading to a deviation.

697



210, 216
Direct Mount Cylinder

Series 2122.CJ2RA-Z

How to Order

Directional
Control Valves

Clean series

m Relief type
m Vacuum suction type

-
n\‘,

)
2
o
-]
£
>
(8]
=
<

10-C(D/J2 R A [16/-60 (R : ;
2
s
2
<
Fo
-C D/ J2 RA [16/-(60 [R|Z-[MOBW :
=}
[
Bore size (mm)
i Number of g
Built-in magnet Cylinder stroke (mm) ) auto switches g
Nil No Auto switch Nil__|[ 2pos. &
D Wm"' ?“‘0 switch Head cover port location [ Nil_[Wwithout auto switch | S 1 pe. =
(Built-in magnet) p « For applicable auto switches, n_ | npos. <
+ For a cylinder with “D”, “-B” is suffixed Perpendicular to refer to the Applicable Auto
to the end of the part number. Nil axis § ; Switch.
X # The minimum stroke for auto N . S
X . switch mounting, operating Auto switch mounting type =E
Copper, fluorine and silicone-free + S range and auto switch mounting [ Nil | None & E
Low particle generation R Axial = . brackets/part no. are the same “ gg
- - as standard products. - - a g_
m ) N + Only for With auto switch » W
m * For double-side bossed type, the (Built-in magnet). z
product is perpendicular to the * Auto switch mounting
cylinder axis. method is band mounting
Model onw- ©
w
Bore size . - ! Standard stroke Auto switch Cushion &
Model (mm) Port size |Lubrication| Action (mm) mounting Rubber Air E!
o
§: 10-/21-CJ2RA10 10 15,30, 45, 60, 75, 100, 125, 150 =
$ |104/21-CJ2RA16| 16 Double |45, 30,45, 60, 75, 100, 125, 150, 175, 200 o —
2 M5 x 0.8| Non-lube | acting, Band mounting only | Standard - g
% ; 11-/22-CJ2RA10 10 Single rod 15, 30, 45, 60, 75, 100, 125, 150 §§
=5 11-/22-CJ2RA16 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 (=
= 25
au
a
Specifications Suction Flow Rate of Vacuum 2
Bore size (mm) e Suction Type (Reference values) | 2
]
ltem Size ‘ Suction flow rate L/min (ANR) 2
Proof pressure 1 MPa 1016 ‘ 1 £
operating pressure 0.7 MPa i
Minimum operating pressure 0.08 MPa
Without auto switch: =10°C to 70°C =
i i S =
Ambient and fluid temperature With auto switch: —10°C to 60°C (No freezing) £5
Piston speed 50 to 400 mm/s 3 .S.
Stroke length tolerance 8° ?, =
Mounting Bottom mounting ot
Grease 10-/11-: Fluorine grease, 21-/22-: Lithium soap based grease
Cleanliness class (ISO class) 1?:52;: g::zzg % é
c3
o2
22
s
& [N

698




Air Cylinder 13732CJ2RA-Z

Auto Switch

Auto switch specifications and the proper mounting
positions for stroke end detection are the same as those
for double acting, single rod type.

‘ Refer to page 889 for the applicable auto switch list. ‘

Bottom Mounting: 1%:CJ2RA, 3>CJ2RA

X Relief port M5 x 0.8
GA_GC Piping port 2 x M5 x 0.8 GB
Y
- A o Piping port M5 x 0.8
) 1 <
B HE o
] i /4 A o Y
@ °
LH A NA NB BSs Head cover port location
LB | \2xLD H S + Stroke Axial (R)
Z + Stroke = The overall cylinder length
does not change.
(mm)
Boresize | A | B | C | D |GA|GB|GC| H| L |LB LD LH/LX| MM |[NA|NB| S [ X |Y | Z

10 15|12 14| 4 |16 5 | 11| 20| 23| 16 |20 Mounob50eph) o | 45 sy 07|31.5| 95| 65 | 28| 8 | 85
of counterbore 4

4.5 through, 08 depth
16 15 (18.3/20 | 5 | 16| 5 | 1120|126 |20 |~ 0 i e | 10|16 |M5x0.8/31.5 9.5 66| 28| 8 |86

|\ Specific Product Precautions|

Mounting |

/\ Caution

1. During installation, secure the rod cover on the mounting side
and tighten by applying an appropriate tightening torque to
the retaining nut or to the rod cover on the mounting side.

If the rod cover on the opposite side is secured or the rod
cover on the opposite side is tightened, the cover could
rotate, leading to a deviation.

699



	Air Cylinder: Series 10-/11-/21-/22-CJ2-Z (φ6, φ10, φ16)
	Double Rod Cylinder: Series 10-/11-/21-/22-CJ2W-Z
	Direct Mount Cylinder: Series 10-/11-/21-/22-CJ2RA-Z



